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Answers. www.seektheol dpaths.com/puzzles
ACROSS 26 Be mindful of what? DOWN 28 Mindful of whose words?
29 Dwells in the new heavens and 30 What sacred writings are
4 From the beginning earth 1 Growin called
5 One day is as (2w) 34 Heavens and earth are 2 ___men 31 Fathers __ (2w)
8 What Paul is called 36 What Paul had written 3 Fall from 32 Scoffers doubted the Lord's
9 The world ____ with water 39 We are to be found in Him 6 What some of Paul's writing _
10 Theworld without were 33 The longsuffering of Jesus is
12 How the Lord will come 40 The mind they had 7 Come in the last days 34 What stirred up their mind?
15 Of old 41 So be it, affirm, verily 11 The Lord is called 35 __ of the wicked
17 The Lord isdue ____ 42 Burned up 13 Scoffers walked after 37 We should live a ____life
18 All of creation will be 43 The Lordis ___ 14 The day of ____ 38 ___ heat
19 We ought to be living in 44 We should be found of him in 16 What the Lord wants
22 Ruin, loss, destruction, perish, o 20 The Lordisnot
waste 45 Will melt 21 Mindful of whose words? (2w)
23 Grow in 46 To watch, be on guard 24 What Paul had
24 To wrench, torture, pervert 47 Peter wrote to ____ his readers 27 To use speed, make an effort,
25 Some are willingly ___ be prompt, earnest, labor
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